SEAT & BACK INSTALLATION
FIGURE 4

STEP #7

Piece B ond pieces C ore fostened ir
using one screw in eoch end.
instolled so the top edge is ol
the second corner of piece A

piece B 1o extend ._Enq_:« below the bottom

corner of A, Pieces C are oligned with the
flot sections of pieces A, excepl where there
ore no flot oreas, spoce the boords so they
evenly fill the remoining spoce. Keep ol
pieces flush lo the ouiside of pieces A.

Procedure 2) — See Figure 3

Start the chair ossembly by allaching the legs, pieces D to the

front of

the boses pieces A os illustrated in Step #1. We suggest you only
clomp them ot first, so you con stond them up to verify oll the
dimensions ond angles. When you ore sure obout the plocement, then
install only one 1-1/4" screw at first. Two others moay be odded
loter when finished. Note that the two leg assemblies are reversed,
one left and one right.

The next slep is lo faslen the orm support as in Step #2. This
should be flush at the top with D and in the centre horizontally.
Instoll two 1-1/2" screws from the bock side.

Piece J may now be inslalled os per Step #3. Just clamp this one os
well at firsl. Now, as per Step #4, we can install the arm itsell,
piece K. Position the arm in ploce, making sure the arm is even at
the reor with the bock edge of J, with 5-1/4" overhong ot the front
of piece D, as shown in Figure 3. Insert lwo 1-1/2" screws into
piece D from the top and one more inlo the top of E. You can
probably insert two screws into K from the inside of piece J, but

be careful, os you moy need to predrill into K lo prevent splitting
(use o 3/32" bit if you ore using #8 or drywall screws). With the
aorms in ploce you con now add two more screws where you had
originolly inserted only one (pieces A&D ond A&J).

Step #5 now ocllows us lo fosten down piece H lo the tops of pieces
J. These should be flush on the outside edges. Use two 1-1/2"
screws down into pieces J ol each end. Likewise you con also

install piece F at the boltom with two screws at each end into
pieces A. Keep these flush ot the outside os well. Note the
12-1/16" dimension lo locole piece F from the rear of the leg,
piece A.

Procedure 3) — See Figure 4

We now start on the seat with pieces B & C. Piece B is first
installed keeping the top edge of B even with the first corner on
each piece A. This will couse B to extend slightly below the bottom
of piece A. The subsequent pieces C are faslened in plaoce on the
remaining flot spots, four ot the front and two at the rear, with
the others spaced evenly by eye. Lay them out ond mork the
positions before fastening them down, to moke sure of the spacing.
When the final positions ore ochieved, install one 1-1/2" screw in
eoch end, moke sure the boords are all flush on the oulside edges.

The boards for the back, pieces G are the final slep in ossembly.
Fasten the first board in the centre of piece F, flush at the

bottom, with one 1-1/2" screw. Fasten the top end with another
screw so is in the centre of piece H. The remaining pieces are
installed with o spacer ot the top and bottom of about 1/4". Keep
them even at the botlom with the first piece, and use two screws as
for the first piece. When completed, they should cover all of the
curved faces of pieces F & H.

The orc ot the top of the bock is now cut using o scroll sow or
coping sow. Meosure up 21-5/8" from the bottom of the centre boord,
ond in the centre horizonlally. This should be opproximaotely the

centre of the curved face of piece H. You should in fact, have a
screw here! Drow o 12" radius orc using o pencil ond string, or

large compass, and cul the arc out. After sanding apply some stain

to the cut oreo ond your chair should be ready for the deck!

Now that you have your feet wet, try out onother chair in this
series so you have o complete set of matching outdoor furniture.
Thonks for trying our projects!

STEP #8

G The top arc is @ 12° rodius drown from the

G center point illustroted below. This center

Arc Center Poinl

STEP j8

Losl piece C omitted
for clarity

STEP #4

Secure orm piece K lo pieces D.E & J os
illustroled using 1-1/2" screws. Maintoin

the 5-1/4" spocing ol the front of the arm,
ond then fosten K & J so thot they ore flush
at the reor

STEP g2 5 1/4" [133) J

to keep them approximotely even ot the bose.
covered by the lost piece C (omilted for clorily), so the
actual olignment is nol critical.

point is locoled 21-5/8" from the bottom of

the center boord, ond in the horizontal center

of the some boord. All boords must be instolled
before the orc con be drown ond cut out. The cut
con be mode using o scroll sow or coping sow.

Al pieces G ore fostened in ploce to pieces F & H
using one screw in eoch location. Stort with the center
boord, keeping it flush ot the botlom with piece F, ond

hey are portly

STEP #6
Secure piece F to the top
edges of pieces A wilh lwo
screws in eoch end. Keep
flush on the outer edges.

— 4+— 1 7/8 [48]

[ .

o

>

nnnnnnnn
4

ADIRONDACK CHAIR
EXPLODED VIEW

4

STEP §5

Secure piece H to the lops of

pieces J with two 1-1/2" screws

in each end. Keep flush ot the bock
H ond the outer edges.

Secure brace piece E to leg piece D C —4
with twa 1-1/2" screws from the inside
keeping both pieces flush ot the lop, r
ond piece E centered on piece D. N

6 5/16 [160]

STEP §1

Clomp legs A & D together os illustroted.

Be sure to moaintoin the horizontal and verticol
dimensions os shown here. Two ossemblies
required, but they must be o left ond right pai
Insert four 1-1/4" screws from the inside of the
legs. Nole thol when these ossemblies ore slood
up, thal the front and reor foces of the ongled
leg ore supposed lo be squore lo the floor.

2
Y1gn

— 19" [483])

5 13/16" [148]

CROSS SECTION
FIGURE 3

Y
/sﬁ Reor edge of orm
> flush with reor
& side of bock broce
<

m. STEP 43
° Clomp broce piece J to the inside of
~ leg piece A os shown with the bottom
corners aligned os stroted. Do not
ingert ony screws until the orm piece K
hos been installed.

5 13/16" [147)

ADIRONDACK CHAIR
COMPLETED PROJECT

ADIRONDACK CHAIR — Project #221 (Side B)




